Efficiency vs P,

0.05 : .

o : : :

D045 oo SRRTEIEERE RRREIE

%) : : :

20.04F -eeeereiee e Rt e

Q : :

D.035F et SRRTETEERE e

] i H H
0.03F - F[-cieeeeeenes S RRCE SIRTERIRS

0.025F -+ i % ------------ e e
0.02F -+ e Feeeeeeeeen e

0,015 -++e-eseiserrerseenes Rt e
0.01F -+ oo Beeeeeeeend e

0.005F- -+ ++exeviseeneneensns Beoeeeees e

o 0 L .......! L .......! L
% 1 N H
e I T R
0.95--F{1Lf4p--------r-rrrmr e
9 ] N N
— 3
107t 1 10 2
Hp_ (et
—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquareNew7_step2_tthar-phasel-newgeom
1
= 0.4

g
L R R e IS SR
2
5008
(8]
£0.07
(]
0.06
0.05
0.04
0.03
0.02
0.01
le-

................................................

Ratio

[y

(o8 RN RARAN AR RAAL

o
|0

TP n

Efficiency vs ¢

20.05¢
o F
§.045 ;
Q .




	Contents
	Page 1


